
Subject: Re: Question in MC simulation
Posted by StefanoSpataro on Thu, 22 Aug 2013 11:11:21 GMT
View Forum Message <> Reply to Message

I tried with 10 events from macro/run (switching on emcpoint persistence) and I can see such
-2 points.

I believe there is some problem of memory leak somewhere, or maybe shadowed variables. I
admit with such complicated PndEmc class I am not able to find the solution, it was changed
so much since it was originally written. Maybe the obsolete code should be removed.
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